Mameerror: mame "hc’ 15 not deTlined

dhcp-18-22-25-251:0vingl vegardjervells python -c 'from HeatCp import HeatCapacity as hc; print{ hci{298&,"C0"))'
29.1B8B2E669T760002

dhcp-18-22-25-251:0vingl vegardjervell% python —-c 'from HeatCp import HeatCapacity as hc; printi{ hc(558,"C0"))"'
30.1220350R00R0005

dhcp-18-22-25-251:0vingl vegardjervells python -c 'from HeatCp import HeatCapacity as hc; print{ hci(558,"H2"))"
29.335111B75000006

dhcp-18-22-25-251:0vingl vegardjervell% python —-c 'from HeatCp import HeatCapacity as hc; printi{ hc(298,"H2"))'
ZB.BTOSEB202084

dhcp-18-22-25-251:0vingl vegardjervells python -c 'from HeatCp import HeatCapacity as hc; print{ hc(298,"CH4")]"'
35.54B15601855009

dhcp-18-22-25-251:0vingl vegardjervell$ python -c 'from HeatCp import HeatCapacity as hc; print{ hc(558,"CH4"))"'
40.650PCRRRBRARDARAL

dhcp-18-22-25-251:0vingl vegardjervells python -c 'from HeatCp import HeatCapacity as hc; print{ hci{298,"N2"))'
29.176802445430006

dhcp-18-22-25-251:0vingl vegardjervell% python —c 'from HeatCp import HeatCapacity as hc; printi{ hc(558,"N2"))"'
20.B50Z40BR0BRRRG3

dhcp-18-22-25-251:0vingl vegardjervells python -c 'from HeatCp import HeatCapacity as hc; print{ hc(298,"CH3I0OH") )"
43.826777B3616

dhcp-18-22-25-251:0vingl wvegardjervell$ python -c 'from HeatCp import HeatCapacity as hc; primt{ hc(55@8,"CH30H"))"'
63.236650900990009

dhcp-18-22-25-251:0vingl vegardjervells python

Python 3.5.2 |Anaconda 4.2.8 (xB86_64)| (default, Jul 2 2816, 17:52:12)

[GCC 4.2.1 Compatible Apple LLVM 4.2 (clang-425.8.28)] on darwin

Type "help", "copyright", "credits" or "license" for more information.

=== Trom HeatCp import MeanHeatCapacity as mhcp




=== Tlle = openl| Cp_data.txt , r’' )

»=»= coefflist = [line.split()[®8][6:] for limne in file.readlines()]
=== coefflist

['cO', 'H2', 'CH4', 'N2', 'CH30H']



=== for i in range(len{partlist)):
cp+=partlist[i]l+mhcp( 298,508, coefflist[i])

=== Cp
31.8157687304B04504
=== partlist = [@#.21,8.53,0.16,0.85,8.85]



=== Cp=Ud

=»> for i in range(len({partlist)):
cp+=partlist[i]+mhcp{298,550,coefflist[i])

=== Cp

32.62Z28244892336



